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1. Which of the following is not covered

by IPR ?

(A) Patents

(B) Trademarks

(C) Standards

(D) Industrial Designs

2. First award of Ph.D. in library

science was given by the University

of Delhi to .............. .

(A) P.N. Kaula

(B) S.R. Ranganathan

(C) Krishna Rao

(D) B.S. Kesavan

1. [kkyhyiSdh dks.krs ckSfºd laink gDdkarxZr

;sr ukgh \

(A) isVaVl~

(B) Vs™MekdZ~l

(C) ekuds

(D) vkS|ksfxd vkjk[kMs

2. fnYyh fo|kihBkus xzaFkky; 'kkL=krhy ifgyh

ih-,p-Mh- dks.kkyk fnyh \

(A) ih- ,u~- dkSyk

(B) ,l~- vkj- jaxukFku

(C) œ".k jko

(D) ch- ,l~- ds'kou

Library and Information Science
Paper II

xzaFkky; vkf.k ekfgrh 'kkL=
iz'uif=dk II

Time Allowed : 75 Minutes] [Maximum Marks : 100

Note : This Paper contains Fifty (50) multiple choice questions, each question carries

Two (2) marks. Attempt All questions.
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3. Which of the five laws of library

science implies weeding of books by

libraries ?

(A) First law

(B) Third law

(C) Fourth law

(D) Fifth law

4. Which type of source is Trade

Literature ?

(A) Primary

(B) Secondary

(C) Tertiary

(D) Quaternary

5. New name of the LA is .............. .

(A) BLA

(B) CILIP

(C) NISCAIR

(D) UKLA

3. xzaFkky; 'kkL=krhy ikp lq=kaiSdh dks.krs lq=

xazFkky;krhy iqLrds jÌckry dj.;kfo"k;h

lqpfors \

(A) izFke lq=

(B) r`rh; lq=

(C) pkSFks lq=

(D) ikpos lq=

4. Vs™M fyVjspj dks.kR;k izdkjps lk/ku vkgs \

(A) izkFkfed

(B) f}rh;d

(C) r`rh;d

(D) prqFkZd

5. ,y- ,- ps- uohu uko ----------- vkgs-

(A) ch-,y-,-

(B) lh-vk;-,y-vk;-ih-

(C) fuLdsvj

(D) ;q-ds-,y-,-
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6. Which of the following is Grey

Literature ?

(A) Books

(B) Periodicals

(C) Preprints

(D) Reprints

7. Peer review is a .............. .

(A) Pricing Model

(B) Database

(C) Pre-publication articles scrutiny

(D) Book review

8. .............. divides documents into

three types such as primary,

secondary and tertiary.

(A) D. Grogen

(B) J.S. Mills

(C) P.V. Young

(D) J.H. Shera

6. [kkyhyiSdh dks.krs xzs fyVjspj vkgs \

(A) iqLrds

(B) fu;rdkfyds

(C) fiz&fizUV~l

(D) fj&fizUV~l

7. fivj fjOgÓw vkgs ,d ----------- -

(A) izk;flax ekWMsy

(B) MsVkcsl

(C) izdk'kuiwoZ ys[kkaph Nkuuh

(D) xzaFk ijh{k.k

8. izys[kkaps izkFkfed] f}rh;d o r`rh;d Lrjkoj

foHkktu -----------  ;kauh dsys vkgs-

(A) Mh- xzksxu

(B) ts- ,l~- feyl~

(C) ih- Ogh- ;ax

(D) ts- ,p~- 'ksjk
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9. Which of the following is a

consolidation service ?

(A) Bibliographic Service

(B) Translation Service

(C) Digest Service

(D) Indexing Service

10. The concept of ‘profile matching’ is

used in .............. .

(A) Selective Dissemination of

Information

(B) Abstracting Service

(C) Referral Service

(D) Translation Service

11. C.A. Cutter is the author of ............. .

(A) Subject Classification

(B) Expansive Classification

(C) Bibliographic Classification

(D) Broad system of Ordering

9. [kkyhyiSdh dks.krh lsok ,df=r lsok vkgs \

(A) fcfCyvksxzkWfQd lsok

(B) Hkk"kkarj lsok

(C) Mk;tsLV lsok

(D) funsZ'ku lsok

10. ^izksQkbZy eWfpax* ladYiuk ----------- e/;s

okijyh tkrs-

(A) fuoMd ekfgrhps izlkj.k

(B) lkj lsok

(C) jsQjy lsok

(D) Hkk"kkarj lsok

11. lh- ,- dVj gs d'kkps ys[kd vkgsr \

(A) fo"k; oxhZdj.k

(B) ,dl~ikfUlOg oxhZdj.k

(C) fcfCyvksxzkWfQd oxhZdj.k

(D) czkWM flLVhe vkWQ vkWMZjhax
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12. Who was the Chairman of UGC in

India in 2010 ?

(A) Narendra Jadhav

(B) S.K Thorat

(C) Arun Nigvekar

(D) Ashok Kolaskar

13. Which of these is not a hierarchical

relationship ?

(A) Enterprises — Private Enter-

prises

(B) Teaching — Teaching Aids

(C) Paints — Oil Paints

(D) Education — Higher Edu-

cation

14. Among the different boolean

operators, ‘AND operator’ is used

............... .

(A) to widen the search

(B) to begin the search

(C) to end the search

(D) to narrow the search

12. Hkkjrkrhy fo|kihB vuqnku vk;ksxkps v/;{k
----------- 2010 e/;s gksrs-

(A) ujsaÊ tk/ko

(B) ,l~- ds- Fkksjkr

(C) v#.k fuxosdj

(D) v'kksd dksˇldj

13. iq<hyiSdh dks.kR;k ?kVdke/;s gk;jkdhZdy

fjys'ku'khi ukgh \

(A) ,UVjizk;>sl — izkbZOgsV ,UVjizk;>sl

(B) fVfpax — fVfpax ,Ml~

(C) isUV~l — vkWbZy isUVl~

(D) ,T;qds'ku — gk;j ,T;qds'ku

14. fujfujkˇ;k cqfy;u vkWijsVjiSdh ^vWUM

vkijsVj* ----------- okijrkr-

(A) 'kks/k foLrkjklkBh

(B) 'kks/k lq: dj.;klkBh

(C) 'kks/k laifo.;klkBh

(D) 'kks/k ladqfpr dj.;klkBh
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15. Dublin Core is ............... .

(A) E-Library Software

(B) Metadata Standard

(C) Content Management Tool

(D) Classification Code

16. Match the following :

(1) Systematic indexing (a) S.R. Ranganathan

(2) PRECIS Indexing (b) H.P. Luhn

(3) Chain Indexing (c) Derek Austin

(4) KWIC Indexing (d) J.E.L. Farradane

(A) 1(d), 2(c), 3(a), 4(b)

(B) 1(a), 2(b), 3(c), 4(d)

(C) 1(d), 2(c), 3(b), 4(a)

(D) 1(c), 2(d), 3(a), 4(b)

17. Science Citation Index originally

produced by institute of Scientific

Information, is now owned

by ............... .

(A) Elsevier

(B) Thomson Reuters

(C) Pro Quest

(D) Emerald

15. MfCyu dksj ----------- vkgs-

(A) bZ&xzaFkky; iz.kkyh

(B) esVkMsVk LV°MMZ

(C) dUVsUV eWustesaV Vqy

(D) oxhZdj.k iºrh

16. tksMÓk tq̌ ok %

(1) flLVheWVhd baMsDlhax (a) ,l~- vkj- jaxukFku

(2) izslht baMsDlhax (b) ,p~- ih- ywu

(3) psu baMsDlhax (c) Msjsd vkWLVhu

(4) Dohd baMsDlhax (d) ts- bZ- ,y- QjkMsu

(A) 1(d), 2(c), 3(a), 4(b)

(B) 1(a), 2(b), 3(c), 4(d)

(C) 1(d), 2(c), 3(b), 4(a)

(D) 1(c), 2(d), 3(a), 4(b)

17. lk;Ul lk;Vs'ku baMsDl lq#okrhl bULVhVÓqV

vkWQ lk;afVfQd bUQkWjes'ku laLFksps lq: dsyk

vkrk R;kps ekydh gDd dks.kkdMs vkgs \

(A) ,YlhfOgvj

(B) FkkWelu :Vjl~

(C) izks DosLV

(D) bejkWYM



7 [P.T.O.

NOV-18211/II

18. Biotechnology is an example of

formation of subject by ............... .

(A) Fusion

(B) Fission

(C) Lamination

(D) Loose assemblage

19. Sears’ List of Subject Headings is

published by ............... .

(A) ALA

(B) H.W. Wilson Company

(C) Library of Congress

(D) McGraw Hill Publishing Co.

20. Chain Indexing was developed

by  ............... .

(A) C.A. Cutter

(B) S.R. Ranganathan

(C) G. Bhattacharya

(D) Derek Austin

18. ck;ksVsDukWykWth gs dks.kR;k fo"k; fufeZrhps

mnkgj.k vkgs \

(A) ∂;qtu

(B) fQ'ku

(C) yWfeus'ku

(D) ywt vlsaCyst

19. flvlZ fyLV vkWQ lCtsDV gsMhaXt dks.k

izdkf'kr djrs \

(A) ,-,y-,-

(B) ,p~- MCY;w- foYlu daiuh

(C) yk;czjh vkWQ dk°xszl

(D) eWxzkW fgy ifCyf'kax daiuh

20. lk[kˇh funsZ'ku ---------- ;kauh fodlhr dsys-

(A) lh- ,- dVj

(B) ,l~- vkj- jaxukFku

(C) th- HkÍkpk;Z

(D) Msjsd vkWLVhu
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21. Match the following and choose the

correct answer from the codes given

below :

(1) Richardson (a) Principles of Book

Classification

(2) Hume (b) Canons of Classifi-

cation

(3) Sayers (c) Prolegomena to

Library Classifi-

cation

(4) Ranganathan (d) Classification :

Theoretical and

Practical

Codes :

(A) 1(a), 2(b), 3(d), 4(c)

(B) 1(d), 2(a), 3(c), 4(b)

(C) 1(c), 2(d), 3(b), 4(a)

(D) 1(d), 2(a), 3(b), 4(c)

22. Which of the following is pre-

coordinate indexing system ?

(A) KWIC

(B) KWOC

(C) PRECIS

(D) Uniterm Indexing System

21. tksMÓk ykok vkf.k cjkscj mŸkj fnysY;k

dksMkrhy fuoMk %

(1) fjpMZlu (a) xzaFk oxhZdj.kkkph rRos

(2) ·qe (b) oxhZdj.kkph lw=s

(3) lsvlZ (c) izksysxksesuk Vw yk;czjh

DyklhfQds'ku

(4) jaxukFku (d) oxhZdj.k % rkfRod

vkf.k izkR;f{kd

dksM %

(A) 1(a), 2(b), 3(d), 4(c)

(B) 1(d), 2(a), 3(c), 4(b)

(C) 1(c), 2(d), 3(b), 4(a)

(D) 1(d), 2(a), 3(b), 4(c)

22. [kkyhyiSdh dks.krh fiz&dksvkWMhZusV baMsDlhax

flLVhe vkgs \

(A) Dohd

(B) DokWd

(C) izslht

(D) ;qfuVeZ baMsDlhax flLVhe
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23. The annual quantum of work per

person for a periodical section of the

University Library as per UGC

formula is ............... .

(A) 600 periodicals

(B) 500 periodicals

(C) 300 periodicals

(D) 1000 periodicals

24. Zero-based Budget means ............... .

(A) Expenses are zero

(B) No increase in expenditure

(C) Considering the previous year’s

budget

(D) Without giving consideration to

the previous year’s budget

25. Modular system of library building

facilitates ............... .

(A) Expansion

(B) Modernisation

(C) Flexibility and expansion

(D) Work flow

26. User Education does not mean

............... .

(A) User Orientation

(B) Bibliographic instruction

(C) Training in the use of

technological gadgets

(D) User study

23. fo|kihB vuqnku vk;ksxkP;k lw=kuqlkj fo|kihB

xzaFkky;kP;k fu;rdkfyd foHkkxkrhy izR;sd
O;Drhps okf"kZd dke fdrh fu;rdkfydkaP;k
la[;s'kh fuxMhr vkgs \

(A) 600 fu;rdkfyds

(B) 500 fu;rdkfyds

(C) 300 fu;rdkfyds

(D) 1000 fu;rdkfyds

24. 'kwU;k/kkfjr vFkZladYi Eg.kts ----------- -

(A) [kpZ 'kwU; vl.ks

(B) [kpkZr dks.krhgh ok< ul.ks

(C) ekxhy o"kkZrhy vankti=dkpk fopkj
dj.ks

(D) xrdkˇkrhy vFkZladYikpk fopkj u
djrk dsysys vankti=d

25. ekWMÓqyj cka/k.kh vlY;kl xazFkky;kP;k
bekjrhe/;s iq<hy lqfo/kk miyC/k gksrs-

(A) foLrkj

(B) vk/kqfudrk

(C) yofpdrk vkf.k foLrkj

(D) dk;Zizokg

26. ;qtj ,T;qds'ku e/;s dks.krh xks"V vfHkizsr
ukgh \

(A) mi;kstdkaps mn~cks/ku

(B) fcfCyvksxzkWfQd bULV™D'ku

(C) ra=Kku fo"k;d midj.ks okij.;kps
izf'k{k.k

(D) mi;kstdkapk vH;kl
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27. flLVhe LVMhe/;s dks.kR;k xks"Vhapk lekos'k
gksrks \

(A) QDr fo'ys"k.k

(B) fo'ys"k.k] ewY;ekiu vkf.k lajpuk

(C) fo'ys"k.k vkf.k lajpuk

(D) fo'ys"k.k vkf.k ewY;ekiu

28. [kkyhyiSdh dks.krs O;oLFkkiukps rŸo

ukgh \

(A) dkekph foHkkx.kh

(B) f'kLr

(C) dsaÊhdj.k

(D) funsZ'ku dj.ks (Mk;jsDVhax)

29. tksMÓk ykok %

(1) gkWFkkuZ LVMht (a) MXyl eWdxzsxj

(2) Vw&QWDVj Fksvjh vkWQ

eksVhOgs'ku (b) vczkge ekLyks

(3) Fksvjh ,Dl vkf.k ok; (c) ,YVu ek;ks

(4) gk;jkdhZ vkWQ fuMl~ (d) ›sMjhd gtZcxZ

(A) 1(c), 2(a), 3(b), 4(d)

(B) 1(c), 2(d), 3(a), 4(b)

(C) 1(a), 2(b), 3(c), 4(d)

(D) 1(b), 2(c), 3(d), 4(a)

27. Systems study involves :

(A) Analysis only

(B) Analysis, evaluation and

design

(C) Analysis and design

(D) Analysis and evaluation

28. Which of the following cannot be

considered as a principle of

management ?

(A) Division of work

(B) Discipline

(C) Centralisation

(D) Directing

29. Match the following :

(1) Hawthorne studies (a) D o u g l a s

McGregor

(2) Two-factor theory

of motivation (b) A b r a h a m

Maslow

(3) Theory X and Y (c) Elton Mayo

(4) Hierarchy of Needs (d) F r e d e r i c k

Herzberg

(A) 1(c), 2(a), 3(b), 4(d)

(B) 1(c), 2(d), 3(a), 4(b)

(C) 1(a), 2(b), 3(c), 4(d)

(D) 1(b), 2(c), 3(d), 4(a)
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30. Zipf’s Law is related to ............... .

(A) Historical Research

(B) Bibliometrics

(C) Action Research

(D) Experimental Research

31. TQM stands for ............... .

(A) Total Quality Material

(B) Total Quality Manpower

(C) Total Quality Management

(D) Total Quality Mission

32. Linux is a  ............... .

(A) Web browser

(B) Operating system

(C) Search Engine

(D) Portal

33. ANSI stands for ............... .

(A) American National Standards

Information

(B) American National Standards

Institute

(C) Asian National Standards

Institute

(D) Asian National Standards

Information

30. f>Il ykW ------------- 'kh laca/khr vkgs-

(A) ,sfrgkfld la'kks/ku

(B) fcfCyvkseWV™hDl

(C) œrh la'kks/ku

(D) izk;ksfxd la'kks/ku

31. VhD;q,e Eg.kts dk; --------------

(A) VksVy DokfyVh eVsjh;y

(B) VksVy DokfyVh eWuikoj

(C) VksVy DokfyVh eWustesaV

(D) VksVy DokfyVh fe'ku

32. fyuDl dk; vkgs \

(A) osc czkm>j

(B) vkWijsVhax flLVhe

(C) lpZ baftu

(D) iksVZy

33. ,-,u-,l-vk;- Eg.kts dk; --------------

(A) vesfjdu uW'kuy LVWUMMZl~ bUQkWjes'ku

(B) vesfjdu uW'kuy LVWUMMZl~ bfULVVÓwV

(C) ,f'k;u uW'kuy LVWUMMZl~ bfULVVÓwV

(D) ,f'k;u uW'kuy LVWUMMZl~ bUQkWjes'ku
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34. The first page of website is known

as ............... .

(A) Cover Page

(B) Home Page

(C) Title Page

(D) Half Title Page

35. Which of the following is an Internet

browser ?

(A) Google

(B) Netscape

(C) Yahoo

(D) Altavista

36. The tagging in Web 2.0 is called

............... .

(A) Taxonomy

(B) Folksonomy

(C) Syndication

(D) Directory

37. Which of the following does not

belong to the category of input

devices ?

(A) Keyboard

(B) Mouse

(C) Printer

(D) Joystick

34. osclkbZVps ifgys iku ------------- vkš [kys tkrs-

(A) dOgj ist

(B) gkse ist

(C) 'kkh"kZd i`"B

(D) v/kZ 'kh"kZd i`"B

35. [kkyhyiSdh dks.krs baVjusV czkm>j vkgs \

(A) xqxy

(B) usVLdsi

(C) ;kgw

(D) vYVkfOgLVk

36. osc 2.0 e/khy VWxhaxyk dk; Eg.krkr \

(A) VWDlkukWeh

(B) QksDlkWukWeh

(C) flafMds'ku

(D) fMjsDVjh

37. [kkyhyiSdh dks.krs buiqV fMOgkbZlP;k izdkjkr

;sr ukgh \

(A) dh&cksMZ

(B) ekml

(C) fizaVj

(D) tkW;fLVd
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38. Hypertext overcomes the inherent

limitations of traditional text and in

particular, its ............... .

(A) Stability

(B) Linearity

(C) Performance

(D) Formality

39. URL stands for ............... .

(A) Universal Resource Locator

(B) United Resource Link

(C) Union Catalogue Resource

Locator

(D) United States Resource Locator

40. Hypothesis is ............... .

(A) a tool for selection of a research

problem

(B) a technique for literature

survey

(C) Tentative Generalisation

(D) Outcome of research

38. gk;ijVsDLVeq š ikjaikfjd VsDLVP;k vaxhHkwr

e;kZnk nwj gksrkr] fo'ks"kr %

(A) LVWfcyhVh

(B) fyfuvWfjVh

(C) ijQkWjeUl

(D) QkWj~eWfyVh

39. ;q-vkj-,y- Eg.kts dk; \

(A) ;qfuOglZy fjlkslZ ykssdsVj

(B) ;quk;VsM fjlkslZ fyad

(C) ;qfu;u dWVykWx fjlkslZ yksdsVj

(D) ;quk;VsM LVsVl~ fjlkslZ yksdsVj

40. x̀fgrd Eg.kts ------------- -

(A) la'kks/kukpk fo"k;h fuoM.;kps Lkk/ku

(B) lkfgR; 'kks/k ra=

(C) VsUVsfVOg tujyk;>s'ku

(D) la'kks/kukph fu"irh
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41. Match the following and select the

correct answer from the codes given

below :

(1) Busha and Harter (a) Management

(2) Evans (b) Classification

(3) B. Sayers (c) Reference

(4) Katz (d) Research Me-

thodology

Codes :

(A) 1(c), 2(d), 3(a), 4(b)

(B) 1(d), 2(c), 3(b), 4(a)

(C) 1(d), 2(a), 3(b), 4(c)

(D) 1(a), 2(b), 3(c), 4(d)

42. Impact Factor relates to ........... .

(A) Patents

(B) Journals

(C) Reports

(D) Books

43. Which of the following law relates

to the frequency of publications by

authors in any given subject field ?

(A) Lotka’s Law

(B) Zipf’s Law

(C) Bradford’s Law

(D) Citation Analysis

41. tksMÓk ykok vkf.k [kkyh fnysY;k dksMkrhy

cjkscj mŸkj fuoMk %

(1) cq'kk vkf.k gkVZj (a) O;oLFkkiu

(2) bOgkUl (b) oxhZdj.k

(3) ch- lsvlZ (c) lanHkZ

(4) dkV~> (d) la'kks/ku iºrh

dksM %

(A) 1(c), 2(d), 3(a), 4(b)

(B) 1(d), 2(c), 3(b), 4(a)

(C) 1(d), 2(a), 3(b), 4(c)

(D) 1(a), 2(b), 3(c), 4(d)

42. bEiWDV QWDVj d'kk'kh laca/khr vkgs \

(A) isVaVl~

(B) fu;rdkfyds

(C) vgoky

(D) iqLrds

43. [kkyhyiSdh dks.kR;k flºkark'kh ys[kdkP;k

,[kk|k fof'k"V fo"k;krhy izdk'kukrhy

okjaokfjrk laca/khr vkgs \

(A) yksVdkWt flºkar

(B) f>Il flºkar

(C) cSzMQksMZl~ flºkar

(D) mYys[k fo'ys"k.k
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44. Which of the following research

methods is useful to study the active

life of periodicals ?

(A) Survey Method

(B) Citation Analysis

(C) Experimental Method

(D) Case Study Method

45. Which of the following research

techniques would be best for a study

to compare the themes of best-selling

novels with those that did not sell

well ?

(A) Content Analysis

(B) Comparative Librarianship

(C) Library Surveys

(D) User Studies

46. From which place in India ISBN to

books are assigned ?

(A) Mumbai

(B) Kolkata

(C) New Delhi

(D) Bengaluru

44. [kkyhyi Sdh dk s. krh l a'k k s / ku iºrh

fu;rdkfydkaps pyr~ vk;q";kpk vH;kl

dj.;klkBh mi;qDr vkgs \

(A) losZ{k.k iºrh

(B) mYys[k funsZ'ku iºrh

(C) izk;ksfxd iºrh

(D) O;"Vh v/;;u iºrh

45. [kkyhyiSdh dks.krs la'kks/ku ra= lokZf/kd [ki

vlysY;k dknacÚ;k o [ki ulysY;k dknacÚ;k

;kaP;k rqyukRed vH;klklkBh mi;qDr vkgs \

(A) vk'k; fo'ys"k.k

(B) rkSyfud xzaFkikyu

(C) xzaFkky; losZ{k.k

(D) okpd vH;kl

46. Hkkjrkrhy dks.kR;k fBdk.kkgwu iqLrdkauk

ISBN fnyk tkrks \

(A) eqacbZ

(B) dksydrk

(C) uoh fnYyh

(D) caxyq#
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47. Name the state which does not have

Library Legislation :

(A) Haryana

(B) Orissa

(C) Gujarat

(D) Punjab

48. Which of the following is not a

National Library ?

(A) LC

(B) BL

(C) OCLC

(D) BNF

49. Connemera Public Library is

in ................ .

(A) Chennai

(B) Hyderabad

(C) Bengaluru

(D) Mumbai

50. Research design gives the ............... .

(A) Blueprint of the research

activity

(B) Procedure of research activity

(C) Techniques of research

(D) Procedures of designing tools

47. dks.kR;k jkT;kr xzaFkky; dk;nk vaeykr

vkysyk ukgh \

(A) gfj;k.kk

(B) vksfjlk

(C) xqtjkr

(D) iatkc

48. [kkyhyiSdh dks.krs jk"V™h; xzaFkky; ukgh \

(A) ,y-lh-

(B) ch-,y-

(C) vks-lh-,y-lh-

(D) ch-,u-,Q-

49. dksusesjk lkoZtfud xzaFkky; dksBs vkgs \

(A) pSUubZ

(B) gSnjkckn

(C) caxyq#

(D) eqacbZ

50. la'kks/ku vkjk[kMk Eg.kts ----------- -

(A) la'kks/kukpk œrh vkjk[kMk

(B) la'kks/ku dk;Ziºrh

(C) la'kks/kukph ra=s

(D) lk/ku lajpuk iºrh
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Instructions for the Candidates
1. Write your Seat Number in the space

provided on the top of this page. Write
your Answer Sheet No. in the space
provided for Answer Sheet No. on the
top of this page.

2. Write and darken Test Booklet No. on
OMR Answer Sheet.

3. This paper consists of Fifty (50)
multiple choice type of questions.

4. Each item has four alternative
responses marked (A), (B), (C) and (D).
You have to darken the responses as
indicated below on the correct
response against each item.

Example : A B C D

Where (C) is the correct response.
5. Your responses to the items for this

paper are to be indicated on the
Answer Sheet only. Responses like ( × )
( 3 ) ( / ) and light shaded responses
will not be considered/evaluated.

6. Read instructions given inside
carefully.

7. One Sheet is attached at the end of the
booklet for rough work.

8. You should return the test booklet and
answer sheet both to the invigilator
at the end of the paper and should not
carry any paper with you outside the
examination hall.

9. Answers marked on the body of the
question paper will not be evaluated.

ijh{kkFkh±lkBh lwpuk
1. ;k ikukojhy ojP;k dksiÚ;kr vkiyk vklu ÿekad

rlsp vki.kkl fnysY;k mŸkjif=dspk ÿekad
R;k[kkyh fygkok-

2. iz'uif=dk ÿekad OMR mŸkjif=dsoj fnysY;k
jdkU;kr fygwu R;kizek.ks dkˇk djkok-

3. ;k iz'uif=dsr iÈkkl cgqfuoM iz'u vkgsr-
4. izR;sd iz'uklkBh (A), (B), (C) vkf.k (D) v'kh

pkj fodYi mŸkjs fnyh vkgsr- R;krhy ;ksX; mŸkjkpk
jdkuk [kkyh n'kZfoY;kizek.ks Bˇdi.ks dkˇk
djkok-
mnk- A B C D

tj (C) gs ;ksX; mŸkj vlsy rj-
5. ;k iz'uif=dsrhy iz'ukaph mŸkjs mŸkjif=dse/;sp

|kohr- mŸkjkP;k jdkU;ke/;s ( × ) ( 3 ) ( / ) o
vLi"Vi.ks dkˇs dsysys mŸkj xzk· /kjys tk.kkj
ukgh-

6. vkr fnysY;k lwpuk dkˇthiwoZd okpkO;kr-
7. dPP;k dkeklkBh iz'uif=dsP;k 'ksoVh dksjs iku

tksMys vkgs-
8. ;k isijph ijh{kk laiY;kuarj iz'uif=dk o

mŸkjif=dk nksUgh i;Zos{kdkauk ijr djkoh- ;krhy
dks.krkgh dkxn rqeP;k cjkscj ijh{kk dsaÊkckgsj
us.;kl lDr eukbZ vkgs-

9. iz'uif=dsoj n'kZfoysyh mŸkjs riklyh tk.kkj
ukghr-

Test Booklet No.

iz'uif=dk ÿ-
Signature of Invigilators

1. .........................................

2. ......................................... Seat No.      

             LIBRARY AND INFORMATION SCIENCE (In figures as in Admit Card)

Paper II Seat No. (In words) ............................

NOV-18211 ..............................................................

Answer Sheet No.     
Time Allowed : 75 Minutes] [Maximum Marks : 100

Number of Pages in this Booklet : 20

F


